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When did Rav say it, by a deposit, but not by a loan

Overview

The X3 established that the dispute between 1312 n"9 regarding 5"y MPn2 WIpHT is
dependent whether the ruling of 27 regarding Jnw>w T1¥n is only by a deposit (the
7127) or also by a loan (n"9).! Our Mmoo derives a certain ruling from this X773,

nooIn asks:
= 19193 1929N 29 91INP D RNYY ¥010T 9INP NI INNN 1IN ON)

And if you will say; why did not the X713 continue and say, it is possible that

everyone agrees that 37 said his ruling of Jnw5w T1v», even by a loan -
- 25M1 Y919 1959N MNINT INIYTA 2399951 SINULY Tayna $159 NI

And here (in the dispute between 73271 1" by a 8"y m%n) it is a case where he was
wIpn her Jnwbw Tnyna, and they are arguing whether we accept the ruling of

bx1»w who maintains that even an heir can forgive the loan -
- *9595 9N 52595 NP NNYT NINDAY INWIY $920 5193 IN

Or the X3 could have also said that both 71271 1" agree with »Xy2w, but they
are arguing whether the woman trusts him not to be mn the loan, and as the

X712 said previously when we wanted to say (°A79p *2773, or) “797p K99 2772, why here
did not the X731 do the same thing -
= 79 IRV 1DPANT N30 YNV 95N MNP NI NIN

But rather since the X712 did not say this, we can derive from this that even

' The rule of INWOW vy is if NWnw has something of s'121% ([either] he is holding a deposit [or (according to 2"9) he
owes him money), and 121X says to 1Wnw (in the presence of *12), whatever you have of mine give it to *¥2. The rule
is that "% acquires this item. In our case 1Wnw owed 2187 money and 72387 said to NW»Y in the presence of the
woman, give her the money you owe me, as 1°@17°p 103, according to "1 who maintains that Jnwbw Tyn is effective
even by a M, she is nwTPn, but according to the 1327 who maintain that JnwHw Tyn is effective only by a 1P (but
not by a m>n), she is not NwWTPH.

* moon may be explaining what purpose is there in saying that they argue in YXaw (or in 7ny7 79n0), when we
already mentioned that npY?nn previously on this 77Y. Therefore n901n adds that here we arguing in a case of 7ayn
INwow, so there is some novelty here, firstly that Jnw>w Tyn is effective by a loan, and secondly that there is 77
(even) by JnwHw THvn.

? It is not clear (to the translator) why '01n needed to say ">mn w1 oX' (instead of just saying 2n Y2rma 1im).

* It is always preferable (whenever possible) to keep as may options open as possible and not to restrict ourselves,
like in our case where we said that the 13121 maintain that Jnw>w 191 is not applicable by a loan, when it is possible
to say that they can maintain either way. This is what the X713 did previously, first we said that they argue in °27
(whether 717°0n2 mMIp1 NNIX) and then we said it is possible that all disagree with "27. The same with ¥95 17, initially
we said they argue in "1 and then we said it is possible that all agree with 5" and are arguing in 2Xmnw, etc.
[Additionally the 7397 is that Jnwow Tnyn is effective even by a loan, therefore this would make the 1127 in
accordance with the 719977.]
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bR (who maintains 1 12121 171 177209 10w 79177) admits -
= 91019 19X IINMY VY 1H¥NI 192anY NapnnT

That one who gifts to his friend a loan Jnwbw T»y»2 and then was i, it is not

B, Therefore the X3 could not have said they are arguing in 2Xmw or in 7nyT 7910 (since
there is no ruling of XMW by 1NWHY TYN).

mooIn clarifies an anticipated difficulty:
= 209 Y9011 9N 19°3NT 2IN YOV 19I1DN DYDY 9INPT NN

And this which the X3 said previously (the ruling of PX1Ww) that n''ww 2517

BT Yo I 1Ay -
$90YN NN IV 9919V YW 1992 MDD PRV NPT 1390
That is only if the m77% is not present at the time when the %1 sold the 9w to the

buyer; however if all three were present, then as '01n just said the rule of PR does not apply.
There can be no 12°» afterwards by 1nwWow Ty,

Summary
The rule of PXmw (that nm Yonm mm 1van? n"vw 191n) does not apply to  Tavn

INWHW.

Thinking it over

Previously’ mooin explained the reason why 1 1oma1 9rm yanh n'"ow mi is
because n"bw n7°On is only 132771, Now all agree that JnwHw Tvn is only a  1Ip
112777, so why here is the rule that he cannot be mn?°

> 9377 7172 (on this TY)
® See TMoNI won WX # 183-5.
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